Honors Math II Name Kﬁ/

Unit 4 day 5 ¢ completing the square Date Period

Find the value of "c" that makes the expression a perfect square trinomial. Then write the
expression as the square of a binomial.

1. x> +6x+c 2z x> +12x+c 3. x?>—24x+c
C=14 Ce 3k C = (44
(x+»)* - 2.

) ( x+G) (x-12)

4. x>+ 7x+c 5. x2+13x+c 6. x’—x+c

C= L_l—c.l_ Cz ufﬁ- C:L
4 4 =

oY () ()

Solve the following quadratics by completing the square.

v x2—-2x—-20=0 8. x2—-8x—-10=0

X<z lt\g—\

9. x%+12x = -3 10. x%2+4+10x=-7

¥z =X 63
X= =5 rayz



11. x%244x—-3=0

13. x2-10x=-2

X= 5¥y23

15. 4x®>+8x =5

X = l/2_ oY ’5/2_

12. x*2+14x+5=0

X=-Tt2VN

14. x*—-6x—20=0

16. 2x*+12x =18

X= -31 32



17. 3x2—12x—12=0

X= 2t 2V2

Write in vertex form by completing the square.

19. y=x%?-8x+19

E (x-D*+3

2. y=5x2+10x+7

‘é: 5Cx—\—\3z+2_

18.  2x?—28x+ 100 =0

20, y=x?—4x-1

y= CX—231’5

22.  y=2x%*+4+24x+ 25

Y=2Cx+¢)" -4



Graph the following equations.

(2,-48)

checlk answers with e

Factor the following completely.
25,  8x%—12x 26.  4x3—9x

27. —x% 4+ 5x 28. 4x3 4+ 100x2% + 96x

29. 6x2? + 28x — 10 30. —2x3 —10x2% — 12x

23.  f(x)= 3x?— 12x—36 24.  f(x) = 2x* + 16x + 32
x-intercept(s): (6,0 Y (-2,0) x-intercept(s): (=N, 0)
y-intercept: (0,-3 G) y-intercept: (0,% 2)
; i L 3 i 1 : I 2 : ,
i ? , i i '
1 | )
; i [
! ! % \ ;
Y m i, |
| T T . |
X \ [ X‘ X >..
% o = i :"
s s \ |
EREERENE | :
1 \ ' i ! %
N | EEEEE
y y

',oouic_K check

e thod



